x+y | Solve a System of Equations Using Substitution Name:
B
Solve using substitution.
r—2Yy =6
—3x+4y =4
(=1.-1) (1,1)
(—16,—11) (16,11)
B
Solve using substitution.
—lz+y =0
—1z+3y =6
(=3,-3) (1,1)
(=1.-1) (3.3)
]
Solve using substitution.
—3r+y =38
—9zx+4y =—1
(11,25) (—10,3)
(—11,—25) (10, —3)
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x+y | Solve a System of Equations Using Substitution Name:
]
Solve using substitution.
y =6x+0
Yy =9x—6
(2,12) (—1,7)
(1,-7) (—2,—12)
%)
Solve using substitution.
r+2y =—06
—lx—1y =—5
(—1,-1) (—16,11)
(1,1) (16,—11)
B
Solve using substitution.
r+y =—4
6x—8y =4
(2,2) (—17,-22)
(17,22) (—2,-2)
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x+y | Solve a System of Equations Using Substitution Name:
7]
Solve using substitution.
—1lz+3y =0
y =—7
(—6,5) (6, —5)
(21,7) (—21,-7)
[#s)
Solve using substitution.
Tty =7
4x+8y =4
(2,-1) (=2,1)
(13,-6) (—13,6)
]
Solve using substitution.
dr+8y =8
y=—4
(—4, —8) (10,—4)
(4,8) (—10, 4)
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x+y | Solve a System of Equations Using Substitution

Name:

#10

Solve using substitution.

y =2x+7

y =3z+1
(6,19) (2,4)
(—2,—4) (—6,—19)

#11

Solve using substitution.

Yy =—dx+7

y =—3z+1
(1.1) (—1,-1)
(3,—8) (=3.8)

#12

Solve using substitution.

—2x+8y =—6
y =—6
(—12,2) (—21,-6)
(12, -2) (21,6)
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x+y | Solve a System of Equations Using Substitution Answer Key
Question Answer
#1 choice 3
#2 choice 4
#3 choice 3
#4 choice 1
#5 choice 4
#6 choice 4
#7 choice 4
#8 choice 3
#9 choice 2
#10 choice 1
#11 choice 3
#12 choice 2
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